

(6) Addieren von Brüchen

$$\frac{1}{3} + \frac{1}{2} (=) \frac{2}{6} + \frac{3}{6} (=) \frac{5}{6}$$

$$\frac{4}{5} + \frac{9}{10} (=) \frac{8}{10} + \frac{9}{10} (=) \frac{19}{10} (=) 1 \frac{9}{10}$$

$$1 \frac{3}{8} + 2 \frac{6}{8} (=) \frac{11}{8} + \frac{24}{8} (=) \frac{34}{8} (=) 4 \frac{1}{4}$$

$$5 \frac{7}{16} + 9 \frac{3}{8} (=) \frac{87}{16} + \frac{150}{16} (=) \frac{237}{16} (=) 14 \frac{13}{16}$$

$$1 \frac{9}{22} + 5 \frac{7}{6} (=)$$

(7) Subtrahieren von Brüchen

$$\frac{1}{3} - \frac{1}{6} (=) \frac{2}{6} - \frac{1}{6} (=) \frac{3}{6} (=) \frac{1}{2}$$

$$\frac{4}{9} - \frac{2}{3} (=) \frac{4}{9} - \frac{6}{9} (=) \frac{(-2)}{9}$$

$$2 \frac{3}{5} - 1 \frac{2}{5} (=) \frac{13}{5} - \frac{7}{5} (=) \frac{6}{5}$$

$$9 \frac{9}{10} - 2 \frac{3}{5} (=) \frac{99}{10} - \frac{26}{10} (=) \frac{73}{10}$$

$$2 \frac{9}{33} - 1 \frac{2}{3} (=) \frac{75}{33} - \frac{55}{33} (=) \frac{20}{33}$$